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For you make her 2172 from the first day -pwi=m ab namun RpPT

Overview

When a woman gives birth to a male she is considered xnv (as a 7771) for the
first seven days'. The next thirty-three days are considered 27 "7, and even
if she sees blood she is not 7771 NXM™IW ARMY. For the birth of a girl, the mother
is XY for the first fourteen days and the next sixty-six days are 9mu . If
there is a 290 if it was a boy or a girl (as in the case of our X713), then she
has the X717 of a female birth (fourteen days of 7Xm) and the X1 of a 77
(only twenty-six days of 7w " following the fourteen days of “axm).

Our X7 is discussing a case where the X5w was expelled on two
consecutive days and we are not sure when the mn°1;71 791 was actually ‘born’.
TTYPR "R KXW maintained that we begin the (fourteen day) 18mW process
from day one, for perhaps the child was expelled in the ®°5w nxpn of day
one. 827 challenges the ruling of W& 1 7% 11, for that would mean that on
day fifteen she is in the 770 "»°; and that is not necessarily so, since the fetus
may have been expelled on day two (making day fifteen, actually day
fourteen). Md0IN has a difficulty with s'&27 challenge.

— 199970 11 1703 ARINY DINTNY PYNRIN NaAPI DY 1779 H9910Y SIRRLY)
The explanation of the phrase W& n 1% n7vn Xp7' is that she will count
the fourteen days of X for a 772%p1 birth from the first day of expelling
the X°>w, and therefore the blood that she will see on the fifteenth day will

be considered %937, since she already counted the fourteen xmw . However in
reality the X may have started on the second day, which makes the fifteenth day only
the fourteenth, when her o7 is still xnv.

mooIn has a difficulty with s'®27 concern:
— D910 1PN XD INNN) 9NN ON)

And if you will say; and why should the o7 of the fifteenth day not be
TTw?!

mooIn explains why the fifteenth day should be 717w (regardless):
— 457 NI NIYT XY ND 1D2ONY 1299 IN TUNY RY PYUNI D12 NNIDY

Perhaps on the first day when the X% was expelled, the head or the
majority of the child came out (which would make the first day the real

! This rule holds even if it was a dry birth; there was no blood expelled during the birthing process.

* The thirty three days of 97 *»° of a 727 are reduced by the additional seven days of 7xm for the poo, that
it may have been a 112p3).

? The term w170 is used here to indicate that the interpretation requires some modification. The question
was TWRI 12 NITvn Xp7, which seems to imply that the woman is 7170 on the very first day; this is
obviously not the case for she becomes X»v (even) on the first day.
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first day, when we begin the fourteen day count), and even if the child did
not come out on the first day, but rather on the second day, nevertheless
there is no problem if we are 77vn the fifteenth day, for perhaps the child is

a male who only has seven days of A8m and the succeeding thirty three days (which
encompasses the fifteenth day) are °mv "»°. We have here a X500 poo which should
allow the fifteenth day to be from the 37w "»°.

N1B0IN answers:
— STTAN SINDT 99D 590 NNT RPID POUM SIWMNY 3813 KT 1319 U

And one can say; that we cannot permit the fifteenth day to be considered
7mv °n on account of the Xpsoe poo, for it will be two leniencies that
conflict with each other.

mooIN continues to explain the conflicting M7 p:
— NP90 P9UN 0 YINVUN N7ND O INRIN ORY
For if she will see 07 on the forty first day she should also be permitted
on account of this same type of X350 P50 -
— NN NAPI N1IDT 299 NN 1D2AN) PIWUNRI D992 1219 Y XD XYY
For perhaps the majority of the child did not come out on the first day
(but rather on the second), making day forty-one, day forty, when it is 27
1My, and even if the majority came out on the first day perhaps the child
was a 12%21 (which makes day forty-one part of the sixty-six 7mv "»° for a girl).
— NAPI NNPY DIVN 199N RNV 99T XNYT DIVN 1IN NIPNNA XNYM
And now it will come out that initially we permitted the o7 of day fifteen
because perhaps the child was a 927, and now we will permit the o7 of day
forty-one because perhaps the child was a 112%p1. If we follow the logic of poo
Xp00 we will be °nn the a7 of day fifteen (for 1271 ¥»w) and the a7 of day forty one (for
7ap1 ¥nw). If we were to do that -
— 90N AYYI TV 1910 29N
Then in any case a prohibition has been violated. It cannot be that the o7 of
day fifteenth and forty one should both be 77v. If the child was a 731 (and day fifteen is
77v) then day forty one should be moR (since the 7127 may have been born on day one;
this is the 7% we used to be 7°nn day fifteen), on the other hand if the child is a 72p1 (and
day forty one is M7v) then day fifteen should be moR (since the child may have been born
on day two; this is the 7X we used to be 7°n» day forty-one). Since we do not know which

of these two (contradictory) options to accept, we accept neither and both days are 207
Nnu.

nvOIN cites a similar case:
— 19 NAPIDY 99Y AU (x,05 1) NTDNNA 1IN NIN) INNIY
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And there is a similar case in ‘n9on7 P15 where the mwn states that she

>should ‘sit’ for the possibility that it was a 957 or a 7ap: or for m7T3 (there
may have been no birth at all).
:NPIOD PAD NN NIV AN NUIN Y97 2) Yy 9N

Even though that each of these prohibitions by themselves should be

considered a NP’2® P5®; nevertheless, since these MP*00 90 conflict with each other
we rule her as a 7xnw for all the possibilities.

Summary
When there are two conflicting X777 Xp°50 P50 we rule X1 in both cases.

Thinking it over
1. Can we resolve from mo01n whether X210 NPIM 1s ‘stronger’ than the N7
of a Xp*00 poO or not?°

2. Why should we not say that on day fifteen she should be 7171 on account
of the Xp>00 p°o0; and if she will see on day forty-one, she will be Xnv in
order not to contradict the original assumption that it may have been a 72121

3. Why does m»oin state that M0°X AWyl qwsl 7nn; it is possible that on day
fifteen it 1s 7N because it may have been born on day one (regardless if it is
a 72°p1) and it is 9M» on day forty-one because it may have been a 72p2
(regardless if it was born on day one)?!®

* The 1w there is discussing a case where something was expelled from the woman and she saw o7,
however she is not sure whether it was a fetus or not. The rule is that she must be Xnv for all possibilities;
perhaps it was a 131, or a 72°p1, or perhaps there was no 771 at all where she has no 2mw "»°. She is
considered 77 78w for the first fourteen days (for perhaps it was a 713p3), even though it is a Xp*50 po0; for
it is possible that there was no child at all and she is only ;771 X% for seven days, and even if there was a
child perhaps it was a 157 and the 77°% k= is only for seven days. The reason we are not 7°n» day eight to
fourteen on the possibility that it was a 737 is because of a conflicting Xp°50 poo. For if the woman saw a7
on day thirty-four and day forty-one, then if we assume (as was just suggested) that perhaps it was a 137,
then (the X7 on day thirty-four is 7mv 07, and) the 7°X7 on day forty one which comes right after the forty
775 v, is a 771 07 n°R7, which makes her Xnv for the next seven days (through day forty-seven). However
we can argue that on account of a conflicting Xp°50 P50, she should only be Xnv for day forty one and not
for the subsequent six days. It is possible that there was no fetus at all and therefore the 7°X7 on day thirty-
four was a "X of 771, which makes her a 7771 for seven days through day forty. On day forty-one begins the
eleven day period 771 771 12 where any 07 seen is considered (not 7771 07, but rather) 72°7 o7. The first 7°X
of 72°1 07 (on day forty-one) makes her a o1 7212 1 N W, which means she is only X»v on that day and if
she sees no o7 on day forty two, she is 7M. And even there was a birth, it is possible that the fetus was a
72°p1, which makes (day thirty-four and) day forty-one 710 »° and there is no 7&m0 at all. This 7ip*90 po0
contradicts the previous Xp°50 po0 that the fetus was a 737 and therefore she is 771 DX from day forty-
one through day forty-seven %"p.

> See p"nuow.

% See >"oa.

7 See "X,

¥ See 7"0.
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